

New Criteria for Meromorphic Bazilević Functions Associated with Linear Operator

Saba N. Al-khafaji*¹, Abdul Rahman S. Juma^{1,2}, Mushtaq S. Abdulhussain³

¹Department of Geology, Faculty of Science, University of Kufa, Iraq

²Department of Mathematics, College of Education for Pure Science, University of Anbar, Iraq

³Department of Mathematics, College of Science, Mustansiriyah University, Iraq

saban.alkhafaji@uokufa.edu.iq

Abstract

In this work, was proposed and characterized a new linear operator and having this linear operator establishing, we benefited from it to define class of meromorphic Bazilević functions in the punctured unit disk $\mathcal{U}^* = \mathcal{U} \setminus \{0\} = \{z \in \mathbb{C}: 0 < |z| < 1\}$. What's more, we obtain some adequate conditions for functions having a place with this class.



Keywords: Meromorphic; Bazilević functions; Linear Operator.

1. INTRODUCTION

Let M^* refer the class of all meromorphic functions as the form

$$f(z) = \frac{1}{z} + \sum_{n=1}^{\infty} a_n z^n, \quad (n \in \mathbb{N} = \{1, 2, \dots\}) \quad (1)$$

which are analytic and normalized in the punctured unit disk $\mathcal{U}^* = \mathcal{U} \setminus \{0\} = \{z \in \mathbb{C}: 0 < |z| < 1\}$.

The generalized hypergeometric and meromorphic functions were thought about as of late by (Liu and Srivastava[1], Cho and Kim [3] and Dziok and Srivastava [5][6]).

Now, we define the following linear derivative operator

$\Omega_{\lambda}^{m,\beta}(\alpha, \xi): M^* \rightarrow M^*$ as follows:

$$\Omega_{\lambda}^{0,\beta}(\alpha, \xi)f(z) = f(z),$$

$$\Omega_{\lambda}^{1,\beta}(\alpha, \xi)f(z) =$$

$$\left(1 - \frac{\beta(\lambda - \alpha)}{\xi + \lambda}\right) \Omega_{\lambda}^{0,\beta}(\alpha, \xi)f(z) - \left(\frac{\beta(\lambda - \alpha)}{\xi + \lambda}\right) z \left(\Omega_{\lambda}^{0,\beta}(\alpha, \xi)f(z)\right)'$$

$$= \frac{1}{z} + \sum_{n=1}^{\infty} \left(1 + \frac{\beta(\lambda - \alpha)(n - 1)}{\xi + \lambda}\right) a_n z^n,$$

$$\Omega_{\lambda}^{2,\beta}(\alpha, \xi)f(z) = \left(1 - \frac{\beta(\lambda - \alpha)}{\xi + \lambda}\right) (\Omega_{\lambda}^{1,\beta}(\alpha, \xi)f(z)) - \left(\frac{\beta(\lambda - \alpha)}{\xi + \lambda}\right) z (\Omega_{\lambda}^{1,\beta}(\alpha, \xi)f(z))'$$

$$= \frac{1}{z} + \sum_{n=1}^{\infty} \left(1 + \frac{\beta(\lambda - \alpha)(n - 1)}{\xi + \lambda}\right)^2 a_n z^n.$$

For general

$$\Omega_{\lambda}^{m,\beta}(\alpha, \xi)f(z) = \Omega_{\lambda}^{1,\beta}(\alpha, \xi) \left(\Omega_{\lambda}^{m-1,\beta}(\alpha, \xi)f(z)\right), \quad (2)$$

$$= \frac{1}{z} + \sum_{n=1}^{\infty} \left(1 + \frac{\beta(\lambda - \alpha)(n - 1)}{\xi + \lambda}\right)^m,$$

where $m \in \mathbb{N}_0 = \{0, 1, 2, \dots\}$, $\beta \geq 0$, $\alpha \geq 0$, $\lambda > 0$, $\xi > 0$, and $z \in \mathcal{U}^*$.

It should be noted that, the linear operator $\Omega_{\lambda}^{m,\beta}(\alpha, \xi)$ generalised many operators studied by several earlier authors by specializing the parameters in this operator.

If $\xi = 1, \lambda = \beta = 1$ and $\alpha = 0$, the operator $\Omega_1^{m,1}(0,0)$ reduces to operator presented by Sălăgean [13].

If $\xi = 1, \lambda = 1$ and $\alpha = 0$, the operator $\Omega_1^{m,\beta}(0,0)$ reduces to generalized Salagean derivative operator which was presented by Al-Oboudi [10].

Now, we present another subclass $\mathcal{R}_{\lambda,\alpha}^{m,\beta}(\xi, \mu, \gamma)$ of analytic functions including the linear multiplier operator $\Omega_\lambda^{m,\beta}(\alpha, \xi)$ defined by [1].

Definition 1.1: A function $f(z) \in M^*$ be meromorphic Bazilevič of order γ and type μ if it satisfies the following inequality

$$-Re \left\{ \frac{z^{1-\mu} (\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))' (\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))^\mu}{(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))} \right\} > \gamma, \quad (3)$$

for $m \in \mathbb{N}_0, \beta \geq 0, \alpha \geq 0, \lambda \geq 0, \xi \geq 0, 0 \leq \gamma < 1, 0 \leq \mu < 1$ and for all $z \in \mathcal{U}^*$. We denote the former class of functions as $\mathcal{R}_{\lambda,\alpha}^{m,\beta}(\xi, \mu, \gamma)$.

Based on the Definition 1.1, we get the following remark:

Remark 1.2 It ought to be commented that the class $\mathcal{R}_{\lambda,\alpha}^{m,\beta}(\xi, \mu, \gamma)$ is a generalization of more classes thought about before. By giving explicit qualities to m and μ for this class, we acquire the accompanying subclasses :

- i. If $\mu = 0$ and $m = 0$ in the class $\mathcal{R}_{\lambda,\alpha}^{m,\beta}(\xi, \mu, \gamma)$, then we have

$$-Re \left\{ \frac{zf'(z)}{f(z)} \right\} > \gamma,$$

it reduces to the class $M_{S^*}(\gamma)$ introduced by [4].

- ii. If $m = 0$ in the class $\mathcal{R}_{\lambda,\alpha}^{m,\beta}(\xi, \mu, \gamma)$, then we have

$$-Re \left\{ \frac{zf'(z)}{f(z)} \left(\frac{f(z)}{z} \right)^\mu \right\} > \gamma,$$

it reduces to the class $B(\mu, \gamma)$ introduced by [2].

Lemma 1.3 [9] Let w be analytic function in unit disk \mathcal{U} with $w(0) = 0$. If $|w(z)|$ attains it is maximum quantity on $|z| = r < 1$ at $z_0 \in \mathcal{U}$, then $z_0 w'(z_0) = kw(z_0)$, where $k \in \mathbb{R}$ and $k \geq 1$.

Lemma 1.4. [12] Let $S \subset \mathbb{C}$ and assume that $\varphi(z): \mathbb{C}^2 \times \mathcal{U} \rightarrow \mathbb{C}$ satisfies $\Phi(ix, y; z) \notin S$ for all $z \in \mathcal{U}$, and for all $x, y \in \mathbb{R}$ such that $y \leq -(1+x^2)/2$. If $q(z) = 1 + q_1z + q_2z^2 + \dots$ is

analytic function and $\varphi(q(z), zq'(z); z) \in S$ for all $z \in \mathcal{U}$, then $Re\{q(z)\} > 0$.

Lemma 1.5 [8] Let h be analytic function with $h(0) = 1$. Suppose that there exists $z_0 \in \mathcal{U}$ such that $Re\{h(z)\} > 0$ ($|z| < |z_0|$), $Re\{h(z_0)\} = 0$ and $h(z) \neq 0$. Then we have $h(z) = ia(a \neq 0)$ and

$$\frac{z_0 h'(z_0)}{h(z_0)} = i \frac{n}{2} \left(a + \frac{1}{a} \right),$$

where n is a real number with $n \geq 1$.

2. RESULTS

Theorem 2.1 Let $0 \leq \delta < 1$ and $0 \leq \mu < 1$. If $f(z) \in M^*$ satisfies the following inequality

$$Re \left\{ \frac{z^{1-\mu} (\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))' (\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))^\mu}{(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))} \left[\frac{z^{1-\mu} (\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))' (\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))^\mu}{(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))} + \frac{z (\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))'}{\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z)} - \frac{z (\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))''}{(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))'} - \mu \frac{z (\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))'}{\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z)} \right] \right\} > \delta \left(\delta + \frac{1}{2} \right) + (\delta(\mu - 1) - \frac{1}{2}).$$

Then $f(z) \in \mathcal{R}_{\lambda,\alpha}^{m,\beta}(\xi, \mu, \delta)$.

Proof. We define the function $q(z)$ by

$$\frac{z^{1-\mu} (\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))' (\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))^\mu}{(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))} = -\delta + (\delta - 1)q(z), \quad (4)$$

Such that $q(z) = 1 + q_1z + q_2z^2 + \dots$ is analytic function. Now differentiating logarithmically of (4) with respect to z , we obtain

$$\begin{aligned} (\delta + (1 - \delta)q(z)) \left(\frac{z (\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))''}{(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))'} + \mu \frac{z (\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))'}{\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z)} - \frac{z (\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))'}{\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z)} \right) \\ = (\mu - 1)(\delta + (1 - \delta)q(z)) + (1 - \delta)zq'(z). \end{aligned} \quad (5)$$

From (4) and (5), we get

$$\begin{aligned} \left(- \frac{z^{1-\mu} (\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))' (\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))^\mu}{(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))} \right) \left(\frac{z (\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))''}{(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))'} + \mu \frac{z (\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))'}{\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z)} - \frac{z (\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))'}{\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z)} \right) \\ = (\mu - 1)(\delta + (1 - \delta)q(z)) + (1 - \delta)zq'(z). \end{aligned} \quad (6)$$

By using the same technique in (6), we get

$$\left(\frac{z^{1-\mu} (\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))' (\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))^\mu}{(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))} \right)^2 \left(- \frac{z^{1-\mu} (\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))' (\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))^\mu}{(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))} \right)$$



$$\left(\frac{z(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))''}{(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))'} + \mu \frac{z(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))'}{\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z)} - \frac{z(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))'}{\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z)} \right)$$

$$= (1 - \mu)zq'(z) + (1 - \delta)^2q^2(z) + (1 - \delta)[2\delta + (\mu - 1)]q(z) + \delta^2 + \delta(\mu - 1) \quad (7) \text{ then}$$

$$= \varphi(q(z), zq'(z); z),$$

where

$$\varphi(r, s; z) = (1 - \mu)s + (1 - \delta)^2r^2 + (1 - \delta)[2\delta + (\mu - 1)]r + \delta^2 + \delta(\mu - 1).$$

For all real numbers x and y satisfying $y \leq -(1 + x^2)/2$, we have

$$\begin{aligned} \operatorname{Re}(\varphi(ix, y; z)) &= (1 - \mu)y - (1 - \delta)^2x^2 + \delta^2 + \delta(\mu - 1) \\ &\leq -\frac{1}{2}(1 - \mu)(1 + x^2) - (1 - \delta)^2x^2 + \delta^2 + \delta(\mu - 1) \\ &= -\frac{1}{2}(1 - \delta) - (1 - \delta)\left(\frac{1}{2} + (1 - \delta)x^2 + \delta(\mu - 1) + \delta^2\right) \\ &\leq \delta(\mu - 1) + \delta^2 - \frac{1}{2}(1 - \delta) \\ &= \delta\left(\delta + \frac{1}{2}\right) + (\delta(\mu - 1) - \frac{1}{2}). \end{aligned}$$

$$\text{Let } S = \{w: \operatorname{Re}(w) > \delta\left(\delta + \frac{1}{2}\right) + (\delta(\mu - 1) - \frac{1}{2})\}.$$

Then $\varphi(q(z), zq'(z); z) \in S$ and $\varphi(ix, y; z) \notin S$ for all real x and $y < -(1 + x^2)/2, z \in \mathcal{U}$. By applying Lemma 1.4, we have $\operatorname{Re}(q(z)) > 0$, that is $f(z) \in \mathcal{R}_{\lambda, \alpha}^{m, \beta}(\xi, \mu, \gamma)$. The proof is complete.

Putting $\mu = 0, m = 0$ and $\delta = 0$ in Theorem 2.1, we have the following result:

Corollary 2.2: If $f(z) \in M^*$ satisfies the following inequality

$$\operatorname{Re} \left\{ \frac{zf'(z)}{f(z)} \left[\frac{2zf'(z)}{f(z)} - \frac{zf''(z)}{f'(z)} \right] \right\} > -\frac{1}{2}$$

$$\text{then } f(z) \in \mathcal{R}_{\lambda, \alpha}^{0, \beta}(\xi, 0, 0).$$

For $\mu = 1, \delta = 1$ and $m = 0$ in Theorem 2.1, gives.

Corollary 2.3: If $f(z) \in M^*$ satisfies the following inequality

$$\operatorname{Re}\{(f'(z))^2 - zf''(z)\} > 1,$$

$$\text{then } f(z) \in \mathcal{R}_{\lambda, \alpha}^{0, \beta}(\xi, 1, 1).$$

Theorem 2.4: If $f(z) \in M^*$ and satisfies

$$\operatorname{Re} \left\{ (1 - \mu) \frac{z(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))'}{\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z)} - \frac{z(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))''}{(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z))'} \right\} < 2(1 - \mu) - \delta, \quad (z \in \mathcal{U})$$

$$\begin{aligned} -\operatorname{Re} \left\{ \frac{z^{1-\mu} \left(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z) \right)' \left(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z) \right)^\mu}{\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z)} \right\} &> \gamma \\ &= \frac{1}{1 + 2(1 - \mu) - 2\delta}, \quad (z \in \mathcal{U}) \end{aligned}$$

where $0 \leq \mu < 1$ and $(2(1 - \mu) - 1)/2 \leq \delta < 1 - \mu$.

Proof. We define the function $h(z)$ in \mathcal{U} as follows

$$\frac{z^{1-\mu} \left(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z) \right)' \left(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z) \right)^\mu}{\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z)} = \gamma + (1 - \gamma)h(z), \quad (8)$$

with $\gamma = \frac{1}{1 + 2(1 - \mu) - 2\delta}$. Then clearly $h(z)$ is analytic in \mathcal{U} with $h(0) = 1$ and

$$\begin{aligned} (1 - \mu) \frac{z \left(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z) \right)' - z \left(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z) \right)''}{\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z) \left(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z) \right)'} \\ = (1 - \mu) - \frac{(1 - \gamma)zh'(z)}{\gamma + (1 - \gamma)h(z)}. \end{aligned} \quad (9)$$

Suppose there exists $z_0 \in \mathcal{U}$ such that $\operatorname{Re}\{h(z)\} > 0, (|z| < |z_0|), \operatorname{Re}\{h(z_0)\} = 0, h(z) \neq 0$.

Therefore, by applying Lemma 1.5, we have $h(z) = ia \quad (a \neq 0)$, and

$$\frac{z_0 h'(z_0)}{h(z_0)} = i \frac{n}{2} \left(a + \frac{1}{a} \right). \quad (n \geq 1)$$

We conclude from this that

$$\begin{aligned} (1 - \mu) \frac{z_0 \left(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z_0) \right)' - z \left(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z_0) \right)''}{\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z_0) \left(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z_0) \right)'} \\ = 1 - \mu - \frac{(1 - \gamma)zh'(z_0)}{\gamma + (1 - \gamma)h(z_0)} = 1 - \mu + \frac{n(1 - \gamma)(1 + a^2)}{2(\gamma + i(1 - \gamma)a)}. \end{aligned} \quad (10)$$

Furthermore, we get

$$\begin{aligned} \operatorname{Re} \left\{ (1 - \mu) \frac{z_0 \left(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z_0) \right)' - z \left(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z_0) \right)''}{\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z_0) \left(\Omega_\lambda^{m,\beta}(\alpha, \xi)f(z_0) \right)'} \right\} \\ = 1 - \mu + \frac{n(1 - \gamma)(1 + a^2)}{2(\gamma^2 + (1 - \gamma)^2 a^2)} \end{aligned} \quad (11)$$

$$\geq 1 - \mu + \frac{n(1 - \gamma)}{2\gamma}$$

$$\geq 2(1 - \mu) - \delta.$$

This goes against our assumption. Hence, $Re\{h(z)\} > 0$ for all $z \in \mathcal{U}$. Thus

$$-Re \left\{ \frac{z^{1-\mu} \left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)' \left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)^\mu}{\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z)} \right\} > \gamma$$

$$= \frac{1}{1 + 2(1 - \mu) - 2\delta}, (z \in \mathcal{U}).$$

If putting $\delta = (2(1 - \mu) - 1)/2$ in Theorem 2.4, we obtain:

Corollary 2.5: If $f(z) \in M^*$ and satisfies the following inequality

$$Re \left\{ (1 - \mu) \frac{z \left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)'}{\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z)} - \frac{z \left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)''}{\left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)'} \right\} < \frac{3}{2} - \mu, (z \in \mathcal{U})$$

then

$$-Re \left\{ \frac{z^{1-\mu} \left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)' \left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)^\mu}{\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z)} \right\} > \gamma = \frac{1}{2}, (z \in \mathcal{U})$$

where $0 \leq \mu < 1$.

For $\mu = 0$ and $m = 0$ in Theorem 2.4, we get:

Corollary 2.6: If $f(z) \in M^*$ and satisfies

$$Re \left\{ \frac{zf'(z)}{f(z)} - \frac{zf''(z)}{f'(z)} \right\} < 2 - \delta, (z \in \mathcal{U})$$

then

$$-Re \left\{ \frac{zf'(z)}{f(z)} \right\} > \gamma = \frac{1}{3 - 2\delta}, (z \in \mathcal{U})$$

where $1/2 \leq \delta < 1$.

Thus, this Corollary reduces to the result shown in the ([2], Corollary 2.4).

Theorem 2.7: Let $0 \leq \rho < 1$ and $0 \leq \mu < 1$. If $f(z) \in M^*$ satisfies

$$\left| (1 - \mu) + \frac{z \left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)''}{\left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)'} + \mu \frac{z \left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)'}{\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z)} - \frac{z \left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)'}{\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z)} - \gamma \left(\frac{z^{1-\mu} \left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)' \left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)^\mu}{\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z)} \right) \right| < \frac{(1-\rho)(\gamma(2-\rho)+1)}{2-\rho}. \quad (12)$$

Then $f(z) \in \mathcal{R}_{\lambda,\alpha}^{m,\beta}(\xi, \mu, \rho)$

Proof. Define $w(z)$ by

$$\frac{z^{1-\mu} \left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)' \left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)^\mu}{\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z)} = -1 + (\rho - 1)w(z), \quad (13)$$

then $w(z)$ is analytic function and $w(0) = 0$. Differentiating logarithmically of (13) with respect to z , we get

$$(1 - \mu) + \frac{z \left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)''}{\left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)'} + \mu \frac{z \left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)'}{\left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)} - \frac{z \left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)'}{\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z)} = \frac{(1 - \rho)zw'(z)}{1 + (1 - \rho)w(z)}. \quad (14)$$

Using (13) in (14), we get

$$(1 - \mu) + \frac{z \left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)''}{\left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)'} + \mu \frac{z \left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)'}{\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z)} - \frac{z \left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)'}{\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z)} - \gamma \left(\frac{z^{1-\mu} \left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)' \left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)^\mu}{\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z)} \right) = \gamma(1 - \rho)w(z) + \frac{(1 - \rho)zw'(z)}{1 + (1 - \rho)w(z)}. \quad (15)$$

Let $z_0 \in \mathcal{U}$ such that

$$\max_{|z| < |z_0|} |w(z)| = |w(z_0)|,$$

and application Lemma 1.3, we get

$$z_0 w(z_0) = k w(z_0), \quad (k \geq 1)$$

setting $w(z) = e^{i\theta}$ ($0 \leq \theta < 2\pi$) and putting $z = z_0$ in (15), we have

$$\left| (1 - \mu) + \frac{z \left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)''}{\left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)'} + \mu \frac{z \left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)'}{\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z)} - \frac{z \left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)'}{\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z)} - \gamma \left(\frac{z^{1-\mu} \left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)' \left(\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z) \right)^\mu}{\Omega_\lambda^{m,\beta}(\alpha, \xi) f(z)} \right) \right| = \left| \gamma(1 - \rho)e^{i\theta} + \frac{(1-\rho)ke^{i\theta}}{1+(1-\rho)e^{i\theta}} \right| \quad (16)$$

$$\geq Re \left(\gamma(1 - \rho) + \frac{(1 - \rho)k}{1 + (1 - \rho)e^{i\theta}} \right)$$

$$> \gamma(1 - \rho) + \frac{(1 - \rho)}{2 - \rho}$$

$$= \frac{(1 - \rho)(\gamma(2 - \rho) + 1)}{2 - \rho},$$

which contradicts our assumption (12). Therefore, we have $|w(z)| < 1$ in \mathcal{U} . Finally, we have



$$\left| \frac{z^{1-\mu} \left(\Omega_{\lambda}^{m,\beta}(\alpha, \xi) f(z) \right)' \left(\Omega_{\lambda}^{m,\beta}(\alpha, \xi) f(z) \right)^{\mu}}{\Omega_{\lambda}^{m,\beta}(\alpha, \xi) f(z)} + 1 \right| = |(1-\rho)w(z)| = (1-\rho)|w(z)| < 1-\rho. \quad (17)$$

Note that the condition (17) is equivalent to

$$-Re \left\{ \frac{z^{1-\mu} \left(\Omega_{\lambda}^{m,\beta}(\alpha, \xi) f(z) \right)' \left(\Omega_{\lambda}^{m,\beta}(\alpha, \xi) f(z) \right)^{\mu}}{\Omega_{\lambda}^{m,\beta}(\alpha, \xi) f(z)} \right\} > \rho,$$

that is $f(z) \in \mathcal{R}_{\lambda,\alpha}^{m,\beta}(\xi, \mu, \rho)$.

For $\mu = 0, m = 0, \rho = 0$ and $\gamma = 0$ in Theorem 2.7, we have.

Corollary 2.8: If $f(z) \in M^*$ satisfies the following inequality

$$\left| \frac{zf''(z)}{f'(z)} - \frac{zf'(z)}{f(z)} + 1 \right| < \frac{1}{2},$$

then $f(z) \in M_s^*$.

For $\mu = 1, m = 0$ and $\gamma = 1$ in Theorem 2.7, we obtain.

Thus, this Corollary reduces to the result shown in the [[7], Corollary 7].

Corollary 2.9: If $f(z) \in M^*$ satisfies the following inequality

$$\left| \frac{zf''(z)}{f'(z)} - f'(z) \right| < \frac{(1-\rho)(3-\rho)}{2-\rho},$$

then $f(z) \in \mathcal{R}_{\lambda,\alpha}^{0,\beta}(\xi, 1, \rho)$.

Further, putting $\rho = 0$ in Corollary 2.9, we get

Corollary 2.10: If $f(z) \in M^*$ satisfies the following inequality

$$\left| \frac{zf''(z)}{f'(z)} - f'(z) \right| < \frac{3}{2},$$

then $f(z) \in \mathcal{R}_{\lambda,\alpha}^{0,\beta}(\xi, 1, 0)$.

REFERENCES

- [1] Airault H., Symmetric sums associated to the factorization of Grunsky coefficients, in Conference, Groups and Symmetries, Montreal, Canada, April (2007).
- [2] Cho N. E. and Owa S. , Sufficient Condiions for meromorphic starlikeness and close-to-convexity of order α , IJMMS, 26(5), (2001) ,317-319.
- [3] Cho, N.E. and I.H. Kim, Inclusion properties of certain classes of meromorphic functions associated with the generalized hypergeometric function, Applied Math, Comput., 187, (2007), 115-121.
- [4] Duren P. L., Univalent Functions, Grundlehren der Mathematischen Wissenschaften 259, Springer-Verlag, 1983.
- [5] Dziok, J. and H.M. Srivastava, Some subclasses of analytic functions with fixed argument of coefficients associated with the generalized hypergeometric function. Adv. Stud. Contemp. Math. Kyungshang, 5, (2002), 115-125.
- [6] Dziok, J. and H.M. Srivastava, Certain subclasses of analytic functions associated with the generalized hypergeometric function. Trans. Spec. Funct., 14, (2003), 7-18.
- [7] Goyal P. S and Prajapat J. K., A New class of meromorphic multivalent functions involving certain linear operator, Tamsui Oxford Journal of Math sciences , 25(2), (2009) ,167-176.
- [8] Grunsky H., Koeffizientenbedingungen fur schlicht abbildende meromorphe Funktionen, Math. Zeit., 45, (1939), 29-61.
- [9] Jack I. S., Functions starlike and convex of order δ , J. Londen Math. Soc., 3(2),(1971), 469-474.
- [10] Juma A. R. S. and Kulkarni S. R., On Univalent Functions with negative coefficients by using generalized Salagean operator, Filomat , 21(2), (2007), 173-184.
- [11] Liu, J.L. and H.M. Srivastava, A linear operator and associated families of meromorphically multivalent functions. J. Math. Anal. Applied, 259, (2001), 566-581.
- [12] Miller S. S. and Mocanu P. T., Differential subordinations and inequalities in the complex plane, J. Differ. Equations. , 67, (1987), 199-211.
- [13] Salagean G. S., Subclasses of univalent functions, Lecture Notes in Math., Springer Verlag, Berlin, 10(13),(1983), 362-372.